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R ome | BT e | B2 | e | e | B2 | B R e | B2 | T | & |
' 100kN/m%# 2 % 1.00/0.00 ~ 4.00 165.42|3m%E#8%5(0.00 ~ 243 4.19 21.17| 100kN/m%#BZ % 1.00( 10.65 ~ 59.91 165.42(3m%i#82 5| 25.00 ~ 59.91| 4.19 21.17
ZnList 1.00/ 400 ~ 11.78 100.00| Zh st [243 ~ 11.78] 3.00 15.16 ZhnLst 1.00[ 500 ~ 10.65 100.00f =4t | 5.00 ~ 25.00| 3.00 15.16
5 100kN/ Mm% 2 % 1.00/0.00 ~ 3.88 163.33|3m%Ei#8%5(0.00 ~ 231 4.09 20.67| 100kN/m%#BZ % 1.00[ 10.54 ~ 62.00 163.33|3m%i#82 5| 25.00 ~ 62.00] 4.09 20.67
ZnList 1.00/ 3.88 ~ 11.67 100.00f Zhist [2.31 ~ 1167 3.00 15.16 ZhnLst 1.00[ 500 ~ 10.54 100.00f = st | 5.00 ~ 25.00| 3.00 15.16
5 100kN/m%# 2 % 1.00[{0.00 ~ 4.01 165.69|3m%Ei#8%5(0.00 ~ 242 4.18 21.14| 100kN/m%#BZ % 1.00( 10.64 ~ 65.45 165.69|3m%i#82 5| 25.00 ~ 65.45| 4.18 21.14
ZnList 1.00] 401 ~ 11.80 100.00| Zh st [242 ~ 11.80[ 3.00 15.16 ZhLst 1.00[ 500 ~ 10.64 100.00f =4t | 5.00 ~ 25.00| 3.00 15.16
A 100kN/m%# 2 % 1.00/0.00 ~ 3.67 159.47|3m%E#8%%(0.00 ~ 298| 4.76 24.05| 100kN/mM%#BZ % 1.00( 13.17 ~ 65.03 159.47|3m%#82 5| 20.00 ~ 65.03| 4.76 24.05
ZnList 1.00| 3.67 ~ 11.45 100.00| Zhlist [ 298 ~ 11.45| 3.00 15.16 ZhLst 1.00[ 500 ~ 13.17 100.00f =4t | 5.00 ~ 20.00| 3.00 15.16
- 100kN/ Mm% 2 % 1.00[{0.00 ~ 3.41 154.93|3m%Ei#8%5(0.00 ~ 2.06| 4.27 21.60| 100kN/m%#BZ % 1.00( 12.89 ~ 42.00 154.93| 3m%Ei#8% 5| 20.00 ~ 42.00| 4.27 21.60|
ZnList 1.00] 3.41 ~ 11.20 100.00| Zhist [2.06 ~ 11.20[ 3.00 15.16 ZhLst 1.00[ 500 ~ 12.89 100.00f Zh st | 5.00 ~ 20.00| 3.00 15.16
5 100kN/m%# 2 % 1.00/0.00 ~ 3.90 163.60(3m%i#8%5%(0.00 ~ 1.85| 4.06 20.51| 100kN/m%#BZ % 1.00[ 11.53 ~ 48.59 163.60( 3m%i#82 5| 20.00 ~ 48.59| 4.06 20.51
ZH LISt 1.00/3.90 ~ 11.68 100.00| Zhlist [1.85 ~ 11.68] 3.00 15.16 ZzhLst 1.00[ 500 ~ 11.53 100.00f =4t | 5.00 ~ 20.00|] 3.00 15.16
7 100kN/ Mm% 2 % 1.00/0.00 ~ 3.82 162.11|3m%E#8%5%(0.00 ~ 142 3.71 18.74| 100kN/m%E#8 2 % 1.00( 10.54 ~ 49.28 162.11|3m%Ei#82 5| 25.00 ~ 49.28| 3.71 18.74
ZhList 1.00/3.82 ~ 11.60 100.00| ZhList | 1.42 ~ 11.60[ 3.00 15.16 ZFhLst 1.00[ 500 ~ 10.54 100.00f Zh st | 500 ~ 2500/ 3.00 15.16
: 100kN/MZ#B% % 1.00/0.00 ~ 3.86 162.98| 3m%#8Z%|0.00 ~ 159 3.83 19.36| 100kN/m%E#BZ % 1.00( 10.72 ~ 43.66 162.98| 3m#*#EX 5| 25.00 ~ 43.66| 3.83 19.36
ZhList 1.00/3.86 ~ 11.65 100.00| ZhLlst | 1.59 ~ 11.65] 3.00 15.16 ZFhLst 1.00[ 500 ~ 10.72 100.00f Zh st | 500 ~ 2500/ 3.00 15.16
g 100kN/MZ#B% % 1.00[0.00 ~ 3.25 152.07| 3m%#Ex4|0.00 ~ 1.09( 3.50 17.68| 100kN/m%E#B 2% 1.00( 10.75 ~ 44.20 152.07| 3m%#EZ 5| 30.00 ~ 44.20| 3.50 17.68
Zh st 1.00/3.25 ~ 11.04 100.00| ZhList | 1.09 ~ 11.04] 3.00 15.16 ZFhLst 1.00[ 500 ~ 10.75 100.00f Zh st | 5.00 ~ 30.00| 3.00 15.16
10 100kN/MZ#8 2 % -l -~ = -|3m%EiHBZ % -~ = = —| 100kN/m%#BZ % = -~ = ~-|3mEHZS o ~ = = =
Zh st 1.00/0.00 ~ 6.52 82.18] =hiust (000 ~ 652| 1.73 8.76 ZFhLst 1.00[ 500 ~ 7.76 82.18| #hkls | 500 ~ 7.76 1.73 8.76
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhst ~ ZhLst ~ st ~
100kN/mMZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHEAD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ Lot ~ st ~
100kN/MZ#8Z % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zhst ~ ZhLst ~ ZhLst ~
100kN/mM%#8 2 % ~ 3mEHEAS ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhst ~ zh st ~ ZhLst ~ ZhLst ~
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